Die 12er - Reihe uben (offene Frage)

Das grofie Einmaleins

Aufgabe 1 Aufgabe 2

.12 « 12 = .18 « 12 =
2. 16 ¢ 12 = 2.9 e 12 =
3. 13 « 12 = 3. 15 « 12 =
419 . 12 = 4. 13 12 =
5 19 « 12 = 5 11 « 12 =
6. 10 « 12 = 6. 2 e 12 =
o014 ¢ 12 = 7.5 e 12 =
8 2 e 12 = 8. 2 e 12 =
9. 15 e 12 = 9. 6 e 12 =
10, 18 « 12 = 0. 6 « 12 =
Aufgabe 3 Aufgabe 4

.19 « 12 = .13 « 12 =
2.3 ¢ 12 = 2. 5 & 12 =
3019 « 12 = 3. 20 ¢ 12 =
4. 3 e« 12 = 4. 13 e 12 =
5 15 « 12 = 5 17 « 12 =
6. 12 o 12 = 6. 15 « 12 =
7.010 « 12 = o002 e 12 =
8 2 e 12 = 8 1 e« 12 =
9. 19 e 12 = 9. 13 * 12 =
10, 14 « 12 = 100 12 « 12 =
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Die 12er - Reihe iiben (offene Frage) | ANTWORTEN

Das grofie Einmaleins

Aufgabe 1 Aufgabe 2

.12 « 12 = 144 1. 18 « 12 = 216
2. 16 ¢ 12 = 192 2.9 ¢ 12 = 108
3. 13 « 12 = 156 3. 15 « 12 = 180
419 o 12 = 228 4. 13 « 12 = 156
5 19 « 12 = 228 5 11 « 12 = 132
610 « 12 = 120 6. 2 e« 12 = 24
o014 e 12 = 168 7.5 e 12 = 60
8 2 e 12 = 24 8. 2 e 12 = 24
9. 15 « 12 = 180 9. 6 e 12 = 72
0. 18 « 12 = 216 0. 6 « 12 = 72
Aufgabe 3 Aufgabe 4

.19 « 12 = 228 1. 13 « 12 = 156
2.3 12 = 36 2.5 12 = 60
3019 « 12 = 228 3020 « 12 = 240
4.3 e 12 = 36 4. 13 « 12 = 156
5 15 « 12 = 180 5 17 « 12 = 204
6.0 12 « 12 = 144 6. 15 « 12 = 180
7.010 « 12 = 120 o002 e 12 = 24
8 2 e 12 = 24 8 1 e« 12 = 12
9. 19 ¢ 12 = 228 9. 13 « 12 = 156
10, 14 « 12 = 168 10, 12 « 12 = 144
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